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\&

BStopsliani2llzi
Name:
Class:
kDate: y
Step 12 Step 13 - S Fach Chalengel
1x4 = 7 x4 = 72X 8= 8x 8= 9x 9+ /X /=
6 = 9 =
4x0-= 4 x4 = Ox4 - 3x0- </ “
6x6 - 6x9-=
4xb-= 9x 4 = 9x 8 = 10x 8=
x4 = 2x4 = Ox 6= 1x 8-+
4 x3-= 4 x 10 = 5x 8-+ Bx7/ =
>y,
@ Y BEATTIOT) SRR URS i .
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Name:
Class:
kDate:

_J

4x 7/ = Ix4-
10x4 = x4 =
4x6 = 4x 3=
Ix4 = 5x4 =
4x 2= 4 x4 =

Step 12

6x0 = 10x 8=
Bx9-= 8x7/ =
4x0= 8xb-=
8x 0= 3x 0=
Bx 2= Ix8-=

\&

q Step 13 - S Fact Challenge!

6x9-= /X7 =
' 6x6-= 9x 9 -
9x 7/ = /X6 -=

Ani

dddddddddddddddddd




\&

Bstersia1i12tiz
Name:
Class:
kDate: y
Step 12 Step 13 - S Fach Chalengel
10 x4 = 4 x4 = 8x 8- 3% 8- 9x9 - 6x 9=
6X6 = 7 =
4x9- | 4x5- 1x8- | 6x8- ' &
9x 7/ = 6x /=
x4 = 1x 4 = dxb-= 2x 8-
4 x 7/ = 3x4 = 9x 8= 4 x 8-
2x4 = 6x4 = Bx7/ = 8x 10 =
y
e 0y BERTTERG e i<t )
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Name:
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kDate:

_J

4x 3= Ox 4=
x4 = 4x06-=
4 x 10 = 5x4-
4x7 = Ix4 -
4 x4 = 4x2-=

Step 12

Bx 3= /Xx0=
B8x 8= 9x 0=
8x 10 = 5x8-
2x0= 4x 8=
B8x6-= 8x1=

\&

/X7 = 9x 6 =
' I9x /= 9x 9 -
/X6 = 6x6-*

Ani
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q Step 13 - S Fact Challenge!
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kDate: )
Step 12 Step 13 - S Fach Chalengel
2x4 = 4x6-= /x0= Bx4 = 0x 9= 6x7 =
/X7 = 9x9-=
Bxd-  |4x4- 6x 8- 9x 8 - " "
6x6 - I9x /=
4x9-= 1x4 = 2x 0+ 2x08-=
10 x 4 = 4x7/ = Oxb-= Ox 8=
4 x3-= 5x4 - 10x 8= Bx1-=
\_ &y,
sEre oy BERTTIRT) SRR WRS e )
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Name:
Class:
kDate: )
Step 12 Step 13 - S Fach Chalengel
7 x4 - 6x 4 - 4x 8- Bx7 - /x9* Ix 6"
= 6 6 =
1x4 = 8 x4 - Bx 2= 1x 8-+ IX "
6x /= /X /=
4x9-= 3x4 = 10x 8= 8x 8-
5x4 = 4 x4 = 9x 8= 8x b=
4x7-= 10 x4 = 8x 6= 2x 98-+
Sy
GEtsTe Gy DERTTIOT) SGfEURS Sk hie )
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Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
1y 8- 9y - 66 - 9% 6 - 1x11- | 7x11-
9x9-= 7x%x9-= 10x 11+ 8x11-=
8x 2= X7 =
3x 11+ 11x5-=
Oxo= 1ox0- Ax11= | 2x11-
8y 4 = 8y 6= 9x 11+ 11x11=
Mx6= | 12x11-
8xb-= 3%x98-= ‘
- 5y
e oy DEOTTERT s o | Seeres )
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Name:
Class:
k[7ate:

Step 13 - S Fact Challenge! q Step 14
8y 5 - 8y 8- 7%7 - 6x6 - 1x 11+ 7x 11+
] ] 11x9 - 6x 11 -
9Ix 6 - 6
3% 8- 8y 7 - : /X
9y 9 - 9y 7 - 3x 11+ 11x 2+
Ox 4= Ix8- * Ux4- |11x8-
)% 8 - 9y 8 - 11x5- 10x 11 -
11x11- |12x11-
10x 8= BX 0= ‘
\_
ST LY BERTTEIRTY ORS Wz | Seeres
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C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
10x 8 = 7% 8= 6x 6= 9x 9= 11x 11+ 12 x 11 =
] ] 11x3= | 6x11-
9x7 - 6x9 -
8x1-= Bx 2= X X
6y 7 - 77 - 4 x 11+ 11x08-=
X Ox6° * 11x9= | 10x11-
8x 3 - 3y 4 - 7x11= | 11x2-
11xb-= 1x 11+
8x 8- bx 8- ‘
- 5y
e oy DEOTTERT s s | Seeves )
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Date:

Step 13 - S Fact Challenge! q Step 14
1x 8= 6x 8= 9x 9 - /x9-= 1x 11+ 11x6 =
_ ] 11x 2= 7x 11+
6 - 6x7 -
By 7 - 2% 8 - I X X/
9x 11 - 11x 11 -
Ox 8- Ox 3= x4- |11x10-
Bx4 = 9x 8= Bx 11-= 12 x 11 =
3x 11-= 11xb-=
10x 8= bx 8-
\_
@sstite oY BEATTIOM SElETRs s | Seoves
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Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
6x 8= 9y 8 = /X9-= 6x7/ = 4 x 11+ 6x1]1-=
] ] Mx11= |11x2-
9% 6 - 66 -
3y 6 - By 2 - 4 X
9x11- | 1x11-
Ox 4= 10x 8- 0x11- |11x8-
1y 8- 8y 5 - 12x11= | 3x11-
1x7-  |11x5-
8x3-= X7 = ‘
o 3y
e oy DEOTTERT s e | Seores )
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C ST, B aTh |
Name:
Class:
k[7ate: )
Step 13 - S Fach Challenge q Step 14 R
1x 8= 10 x 8 = / X/ = 6x 6= 11x 2+ 12 x 11 =
9y 9 - 5y 7 - Ax11- | 11x7-
8xb-= Bx7 =
9x11- |8x11-
Ox 8- 3x8° 1x11- |11x10-
8y 4 = 8y 9= 5x11= 1Ix1-=
11x6-= 3x 11-=
6x 8= Bx 2=
e oy DEOTTERT s e | Seeves )
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Name:
Class:

k[7ate: )

Step 13 - S Fact Challenge! q Step 14
3% 8= 8y 8= 9x 6 = /X9-= 5x11-= 9x 11-=
_ _ 11x6-= 1x 11+
9x 9 6x 6 -
5x 8- BXx 0= 4 X
11x11- | 11x8-
Ox 7= Ix B+ Mx4- |12x11-
8y 1- 3y 4 - 7x 11+ 11x 2=
0x11= |3x11-
Bx 2= 10 x 11 = ‘
\_
momsceonia ) ()7 BELT VWY WS | LWE@S Y | Seeres
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Name:
Class:

k[7ate: )

Step 13 - S Fact Challenge! q Step 14
74 8- 4y 8- 9x 7 - 9x 9 - 12x11- | 11x6-
] ] 11x5- 10 x 11 -
6% 6 - 6x7
6x 3= Bx 3= X X
2x11-= 11x8-*=
Ox 8- Ix B+ 1x9- | 7x11-
8y 1 - 3y 10 - 11x4 - 11x 11 -
1x 11+ 11x3 -
5x 8- 72X 8-
\_
ST LY BERTTEIRTY ORS Wze | Seeres
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Name:
Class:

k[7ate: )

Step 13 - S Fact Challenge! q Step 14
8x 3= 9y § = 9x 7 = 9x 9= 1x 11+ 11x 11+
] ] 11%72- 11x8 -
9Ix 6 - 6x7
3x 8 - 7% 8- . X
7y 7 - 6 6 - 4x 11+ 9x 11+
Dx8- | 4xD- 10x11= | 11x3*
8x 10 = Bx 2= 11x12 = 5x 1=
6x 11 - 7x 11
8x1-= 6x 8=
\_
G Dy BERTTERT e U9 | Sceres
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Name:
Class:
k[7ate:

Step 13 - S Fact Challenge! q Step 14
8v10- | 5x8- 9% 6 - 6x 6 - 2x 11 - 6x 11 -
] ] 11x8- 11x1-
8x8-  |8x3- ox7 /xS
Mx4-  |11x11-
oxo 10 12x11- |3x11-
9x 8- Bx 2= 11x7 = 11x5-=
0x11- |9x11-
/X0 -= x4 = ‘ X X
\_
momsceonia ) ()7 BELT VWY WS | L Uz d0 | Peeres
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Name:
Class:
k[7ate: )
( Step 13- | Step 14 Step 15 )
Step 13 - Six Fact Challenge! D D
6x6 = 9% 6 - Ix11= /x11= 9x 12 = 7 x12 =
9x9=  |7x9- 0x 1= 1 6x11- 12x2- | 12x8-
11x3-= 11x5b-= 341 - 1y 12 -
4 x 11+ 2x 11+
11x 12 = 10x 12 =
9x 11+ 11x 11+
12x b= 12 x 4 =
11x6-= 12 x 11 =
6x 12 = 12x 12 =
maaneceaonia ) (07 PR VIR W ST | LW[@@ 1 | SCeres y
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Name:
Class:
k[7ate: )
" Step 13 - Si Fact Challengel | Step 14 q Step 15
9x7 = 9% 6 = Ix11-= /x11= 12x 3+ 12x 12 =
7x7 = 7%6*= 1Tx 9= 1Tx6- , 10x12= 14x12-
2x11- 2x 11+ 1949 - 8y 17 -
4 x 11+ 11x 8-+
12x 5= 12x 6 =
5x11-= 10x 11+ #
/x 12 = 1x 12+
11x 11+ 12x 11+ #
‘ 11x 12 = 2x12 =
momsceonia ) ()7 BELT VWY W RS | qu{g 2 | Peeres




( s B, oS |
Name:
Class:
k[7ate:
Step 14 q Step 15
/x99 9x 9= 1Ix 11+ 12x 11 - 12x 2= 7% 12 =
6x 6= Iy 6 - 3x 11+ 1Tx6- 12x10= | 8x12-
6x7 - 7x7 - #x 1= 1 ox 1= 1x12- | 11x12-
A 11x9- 10x 11 -
12x 5 = 3x12 =
11x7 - 11x 2 -
9x 12 - 12x 4 =
bx 11+ 1x 11+
12x 12 = 6x 12 =
moazaezens ) (Y BEATTRRTE SEEREWES | ngg 8 | SCere

\_




( s, oS |
Name:
Class:
k[7ate: )
" Step 13 - Si Fact Challengel | Step 14 q Step 15
9% 9= 9x 7 = Ix11= 6x11= 12x 12 = 5x 12+
9x6- | 7x6* Zx 1= Hx7- ' 12x7= | 9x12-
6% 6 - 7x7 - Ix11- 1= 4x12- | 11x12-
3\ 11x4 - 10x 11 -
12x10- | 12x1-
8x 11 - 12 x 11 - A
12x 3 = 8x 12 =
11x 3 - 11x 5 - |
‘ 12x6 = 2x12 =
masnecvearonia ) [0)7 PR VIR WS | qu{g | Seeres
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Name:
Class:
k[7ate: )
" Step 13- § [ Step 1 Step 15 N
Step 13 - Six Fact Challenge! p p
6x9 - 6x6 = 11x4 - 6x 11+ 12x 3= 11x 12 =
9x 7 - 6x7 - 1Ix 1= 2x 11+ 12x10- | 5x12-
11x9- 1x 11+ 19 8 - 1749 -
10x 11 = 11x8-=
4 x 12 = 12x 12 =
12x 11+ 3x 11+
/x 12 = 12x6 =
11x7/ = 11xb-=
2x12 = 1x 12 =
meassconis) (G BEAT TR WCST—— | ngg 8 | SCere
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Name:
Class:
k[7ate: )
Step 14 q Step 15
9x 6 = 7X7 = 11x 2= 11x 11+ 12x 8- 1x12 =
9% 7 - 7%6 - 4x 11+ 1Ix 7= ' 9x 12 - 10 x 12 -
6% 6 - 9% 9 - Ix 11- Ox 11+ 12x3- | 5x12-
A 12x11- | 11x10-
11x12- |12x12-
11xb-= 11x1-= A
4x12- | 12x2-
6x 11 - 3% 11+ |
‘ 12x 7 = 6x 12 =
meassconis) (G BEAT TR WCST—— | ngg G | Seeres




BStepsz N1
Name:
Class:
k[7ate: )
Step 14 q Step 15
6x9-= /X /= 11x5b-= 9x 11 = 8x 12 = 12x 12 =
9% 9 - 67 - Hx6=[1Ix1l= ' 12x6= | 12x4-
11x 11+ 11x 8= 9y 12 - 17y 7
4 x 11+ 12 x 11 =
12x 7 = bx 12 =
11x7/ = 2x11-= A
11x 12 = 12x 3=
10x 11+ 11x3-= #
‘ 1x 12+ 10x 12 =
meassconis) (G BEAT TR WS | ngg U | SCeres
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Name:
Class:
k[7ate:
" Step 13 - Si Fact Challengel | Step 14 q Step 15
6x7 = 7x7 = 11x 12 = 6x11-= 12x5 - 8x 12 =
9x9= | 6x6- ox = [ 10Xl 7x12=  |10x12-
2x11- Bx11- 1y 17 - 1943 -
11x9-+ 1x7-=
12x 11+ 4 x12 =
4 x 11+ 11x 11+
12x 2= 12x 12 =
11x1-= 11x 3+
9x 12 = 12x 6 =
momsceonia ) ()7 BELT VWY W RS | qu{g 6 | Seeres
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Name:
Class:
k[7ate: )
" Step 13 - Si Fact Challengel | Step 14 q Step 15
9x 6= 9x 9= Ix11-= 11x11-= 12x 12 - 1x 12+
6x 6 - 7%9- 2x 1= | Bx1l- ' 12x8=  |10x12-
11x4 = 11x9- 9y 17 - 5y 17 -
10x 11+ 3x 11+
12x 6 = 12 x 4 =
12x 11 - 5x11-= A
3x 12 = 11x12-=
11x6 -+ 11x7/ = #
‘ 2x12 = 12x7 =
momsceonia ) ()7 BELT VWY W RS | qu{g O | SCeres




( s, oS |
Name:
Class:
k[7ate:
" Step 13 - Si Fact Challengel | Step 14 q Step 15
7x7 = 6x6 = 2x 11+ 6x11-= 1x 12+ 6x 12 =
9x9- | 9x6- xg= ] Ix1i= 10x12= |9x12-
7%x9- 6x7 - AxIl= Al 12x3- | 11x12-
3\ 12x11= | 11x 3+
12x5 - 12 x 12
11x7 - 5y 11+
4x12- | 12x2-
10x11= |11x9-
8x 12 = /x 12 =
masnecvearonia ) [0)7 PR VIR WS | qu{g 1O | PeerEs
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